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Pensieve header: A demo of Zip and Bind.
ZipBindDemo
Inf+]:= K& /: Ké; ; :=1If[1===73,1,0];
{z", x*, y*'} = {8, & n}; {&%, €, n"} = {2, X, ¥};
(U_i_)* t= (U%) i

Zip
ZipBindDemo

nip= Zip[P_1 1= P5 Zips,s 3 [P_1 := (Expand[P // Zipiry] /. f_. 29 dier,ayf) /. £ >0

ZipBindDemo

Inf[«]= Zip{g} [ (a §6 +C+ 3) (Z5 e?+7 Z) +99 b]
ZipBindDemo

ouf-]= 7+720a+99b

ZipBindDemo

1= Zipie,ny [§3 nde
ZipBindDemo

ouf-- a>b>+9a%*b*c+18abc®+6c?

ax+by+cxy]

ZipBindDemo

me1=  (* E[Q,P] means e% x)
E /: Zips 1ist®E[Q_, P_] := Module[{Z&, z, zs, c, ys, 715, qt, zrule, Q1, Q2},
zs = Table[Z&*, {&, &5}1;
c=0Q/.Alternativesee (¢sUzs) - 0;
ys = Table[d, (Q /. Alternatives eezs - @), {&, ¢5}];
ns = Table[d, (Q /. Alternatives ee &5 - @), {z, z5}];
qt = InverseeTable[KS&, ~ - 0,,:0Q, {&, &5}, {z, z5}];
zrule = Thread[zs » qt. (zs +ys)];
Ql=c+ns.zs /. zrule;
Q2 = Q1 /. Alternatives @@ zs - 0;
Simplify /@ E[Q2, Det[qt] e ¥ Zips[e® (P /. zrule)]] |;

ZipBindDemo
3 3 3
np= En = E[h Zzalei+j Xi €55 Zfi[xl, X2, X3] €i]5 E1=Eh /. h>1
i=13j=1 i=1
ZipBindDemo

ouf-}= E[a11 X3 1+ 321 X2 €1 + @31 X3 §1 + @12 X1 2 + @22 X2 2 + @32 X3 €2 + Q13 X1 €3 + 323 X §3 + @33 X3 €3,
&1 Faxa, X2, X3] + &2 Fa[X1, X2, X3] + &3 F3[X1, X2, X3]]
ZipBindDemo
In[«]:= Shor‘t[lhs = Zip(gl,gz)@El, 5]

ZipBindDemo
outf« J/Short=" E [ < (313 ( <—1 + azz) ds1 — d1 a32> + d12 (—323 asy + Ay asz) + (—1 + 311> (a23 ds3p — (—1 + azz) a33) >

X3&3) / (-1+a @ -an (-1+ax) +axn), A7 van <l ]
(71+312 dpy — d11 (—1+a22) +a22)2
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ZipBindDemo

3= 1hs == Zip(g,3 @Zip(¢,; @EL == Zip(¢,; @Zip(s,; @EL
ZipBindDemo

outf-]= True

ZipBindDemo
1= Short[lhs = Normal[Eh /. E[Q_, P_] = Series[Pe?, {h, @, 3}]] // Zip(e, &35 5]
ZipBindDemo
ouf o= hags £3 F1[0@, @, X3] +2h?ay a3 3 1[0, 8, x3] +3h*al; a;3E5F1(0, 0, x3] +
2h3aja13a821 E3F1[0, 9, x3] +h? a3 @, E3F1[0, 0, X3] + <<337> +

1 1

g h3 agl Xg §3 .F3(3,9,0) [0, 0, X3] + E h3 a%l asy Xg {1(3’1’0) [0, @, X3] +
135 523,10 1355 3. (400

gh ayp x3 H2'>% [0, o, X31+gh a3 x3 F1'7%7 [0, 0, x3]

ZipBindDemo
1= rhs = Normal[Zipe,,¢,) @Eh /. E[Q_, P_] > Series[Pe?, {h, @, 3}]];
Simplify[lhs == rhs]
ZipBindDemo
outf-J= True

Bind
ZipBindDemo
Inf]:= E/:E[Ql_,Pl ]E[Q2 , P2 ] :=E[Q1+Q2, P1xP2];
Binds sist[L_E, R_E] := Module[{n, hidegs, hidezs},
hidefs = Table[S[i] » Cheis {i, Length@ s} ];
hidezs = Table[ZS[i]* - Znei, {i, Length@ s} ];
Zips/.hidees [ (L /. hidezs) (R /. hidegs)] |;

ZipBindDemo

1= Bindig,y [E[E (X1 +X2) 5 1], E[&2 (X2 +X3), 1]]
ZipBindDemo

ouf-)= E[E (X1 + X2 +X3) , 1]

ZipBindDemo

1= Bindig,y [E[ (§2 + €3) X2, 1], E[ (&1 + &2) X, 1]]
ZipBindDemo

ouf-)= E[X (E1+ &2+ E3), 1]
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